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QUESTION 1

Which three factors should a cloud administrator consider when sizing a new VMware Cloud software-defined data
center (SDDC) to support the migration of workloads from an on-premises SDDC? (Choose three.) 

A. Total number of 10Gb network ports required 

B. Host hardware type in the target VMware Cloud 

C. Total number of on-premises hosts 

D. Total number of workloads 

E. Total amount of available storage across all on-premises datastores 

F. Average size of workload resources (CPU and RAM) 

Correct Answer: DEF 

Total number of workloads. This determines how many hosts are needed in the VMware Cloud SDDC cluster. 

Total amount of available storage across all on-premises datastores. This determines how much storage capacity is
needed in the VMware Cloud SDDC cluster. 

Average size of workload resources (CPU and RAM). This determines how much compute capacity is needed in the
VMware Cloud SDDC cluster. 

https://docs.vmware.com/en/VMware-Cloud/services/vmc-cloud-sizer-
user/GUID-7CECF719-E56B-4830-84ED-77206A2A118D.html 

 

QUESTION 2

A customer needs additional capacity to handle seasonal spikes and decides to use a VMware Public cloud provider the
extra capacity. Which use case describes this customer scenario? 

A. Disaster recovery 

B. Data center extension 

C. Cloud migrations 

D. Modernizing applications 

Correct Answer: B 

This customer scenario describes a use case of extending the capacity of an existing data center with a public cloud
provider, such as VMware Cloud. This allows the customer to extend their capacity to handle seasonal spikes in
demand, without having to invest in additional physical infrastructure or make significant changes to their existing setup.
According to VMware\\'s official website, "VMware Cloud enables customers to extend their data centers to the public
cloud and dynamically scale capacity up or down with the same tools, processes, and policies they use today in their
private cloud or data center environments." [1] 

[1] https://www.vmware.com/products/vmware-cloud.html 
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QUESTION 3

An organization Is running multiple applications that span different public clouds. The cloud administrator is asked to
perform budget management, cost reporting and cost forecasting from a single platform. Which VMware Cloud service
can the cloud administrator use to meet this requirement? 

A. VMware vRealize Operations Cloud 

B. VMware vRealize Network Insight Cloud 

C. VMware vRealize Log Insight Cloud 

D. CloudHealth by VMware 

Correct Answer: D 

CloudHealth by VMware is a cloud cost governance platform that provides budget management, cost reporting, and
cost forecasting from a single platform. It provides comprehensive visibility and control to manage cloud costs in hybrid
and multi-cloud environments. CloudHealth by VMware also provides cost optimization, resource optimization, and real-
time alerting capabilities to help organizations make cost-effective decisions to reduce cloud costs. 

 

QUESTION 4

A cloud administrator needs to create an isolated network segment for use in disaster recovery test. Which type of
network segment is required? 

A. Private 

B. Routed 

C. Extended 

D. Disconnected 

Correct Answer: A 

A private network segment is an isolated network segment that is used for disaster recovery testing. Private network
segments provide a secure and isolated environment for testing, allowing administrators to test their disaster recovery
plans without risking the stability of their production environment. Private network segments also provide additional
security, as they are not connected to the public internet, making them less vulnerable to external attacks. [1] [1]https://d
ocs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vmc-
aws.networking/GUID-64D7A8F3-45C9-4A83-8528-A8C2A2C7001D.html 

 

QUESTION 5

Which three organizational aspects need to be considered to successfully transition to a cloud operating model?
(Choose three.) 

A. People 

B. Technology 
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C. Process 

D. Branding 

E. Budget 

F. Facilities 

Correct Answer: ABC 

https://blogs.vmware.com/management/2020/01/the-cloud-operating-model.html 
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